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execute as @e[name=9' A/ VEY FDRI ] at @s run
execute as @p[r=2,c=1] at @s run summon
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execute as @e[name= 9/ VE FDR ] at @s run
replaceitem entity @p[r=2,c=1] slot.weapon.
mainhand 0 diamond_sword 1
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execute as @p at @s run klll
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effect @e[name=uzu] invisibility 1 1 true
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execute as @e[scores={twister=1..}] at @s run
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[ [twister |27 £1~18 ]
execute as @e[scores={twister=1..18}] at @s run
execute as @p[c=1] at @s run fill A A1 A1 A A1 A2
wool 3 replace air 0  @uErEd EEKT
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£179 [ [twister| 0237 £1~18 ] %
execute as @e[scores={twister=1..18}] at @s run "

execute as @p[c=1] at @s run fill A A1 A A A7 A2
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£179 [ [twister| D27 £1~18 ]
execute as @e[scores={twister=1..18}] at @s run
execute as @p[c=1] at @s run tp @s""""20
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twister | D A7 H1~18

execute as @e[scores={twister=1..18}] at @s run
playanimation @p[c=1] anlmatlon armor stand.
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=15 [ [twister| D217 £1~18 ]
execute as @e[scores={twister=1..18}] at @s run
playsound item.trident.throw @a ™~ ~
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execute as @e[name—uzu] at @s run k|ll
@e[name—EEGJ'D—lb ,r=10]
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execute as @e[scores={twister=18..}] at @s run
partlcle minecraft:i |ce evaporatlon emitter
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execute as @e[scores—{tW|ster—18 .}l at @s run
particle minecraft:i ice evaporatlon emitter
o AO 54-0.8 KA ZR
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execute as @e[scores={twister=18..}] at @s run
particle minecraft:ice evaporatlon emltter A A2 A1.6

execute as @e[scores—{tW|ster—18..}] at @s run
particle minecraft:ice evaporatlon emitter A A2 A-1.6
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execute as @e[scores={twister=18..}] at @s run

particle minecraft:ice evaporatlon emltter AA4A24 .
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execute as @e[scores={twister=18..}] at @s run F

particle minecraft:ice evaporatlon emitter A A4 A-2.4 &
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s [ [twister |0 27 £1~18 ]
execute as @e[scores={twister=18..}] at @s run
playsound elytra.loop @a ™ "~
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execute as @e[scores={twister=1..}] at @s run
effect @e[type—'player name—'uzu r=2]
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execute as @e[scores={twister=1..}] at @s run
execute as @e[type=!Iplayer,name=!uzu,r=15]
at @s run tp @s A A AQ.5 facing @e[name=uzu]
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execute as @e[scores={twister=1..}] at @s run *

execute as @e[type=!player,name=!uzu,r=2]
at @s run tp @s A2 A A facing @e[name=uzu]
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kill @e[scores={twister=200..}]
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